#4 B [EaEEERN IEFE k=
sg268| A 10:30 [2FEAtRE K
27 & 11:40
28| K[ 11:40 |BIAES-FETHOUXRR
29[ & 11:40 "
30/ £ [ 11:40
31|
981H| H
O 2| B | 1400 |BAR2BIE -REBEEEERR
gy 3] k| 14:00 —REHBIEELLE
4] 7k | 11:40
(H= 5| &| 14:00 |[{aB{AER
o E 6] €| 14:.00 [#AB{AER
7] £
8| H
[@) ol B ] 14.00
1) 10] k] 14:00
11] 7k | 11:40
[@) 12] X 14:00
1) 13| £ | 14.00
14] £
15| H e
16| B BEDH
1) 17] k| 14:00 D |
18[ 7k | 11:40 d%_
O 19 K| 14:00 |FEETHEIFES
1) 20 £ [ 14:.00
21]
22| H MrDH o S
23 B RERE 2.0, B30 9RQRF
=) 24] &1 14:00 i a )
25 k| 1140 [&8&EF
O 26| &< 14:00
1) 271 £ [ 14:.00
28|
29| H P
O 301 A| 14:.00 9@_,
10AFXE SR
48 (&) EHLEHE
58(x) EFHe 3‘%%&5

X35 R0 B)4- 55 R(10 BB ERA. 44 HIAFEYET
HEDEFHHNNBSREHEN THELILET .












